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The total interest earned in the 18-month term at
Bank B is what percentage greater than the total
interest earned in the 18-month term at Bank C ?

A) 1.4%
B) 10.7%
C) 26.1%
D) 35.3%

How many solutions does the equation
2(x+3)+x=3(x+2) have?

A) Zero

B) Exactly one

C) Exactly two

D) Infinitely many

4x - 8y = -1
x+6y=-10

The solution to the given system of equations is
(x, y) . What is the value of 5x - 2y ?

A) 10
B) 9
C) -9
D) -11

x>-8x+20=0

How many distinct real solutions does the given
equation have ?

A) Zero

B) Exactly one

C) Exactly two

D) Infinitely many
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For questions 31-'38, solvg the problgm and Answer: % Answer: 2.5
enter your answer in the grid, as described
Writ
below, on the answer sheet. an ‘g" :)Ef — 7171112 AR
B Fraction
1. AIthough not requiredf it is suggested that o 58 o line o 88 (o _Decimal
you write your answer in the boxes at the top 0)[0)[O) ©)[0)[O) point
of the columns tq help you fill ir.\ the bgbbles oo @) OID|IDD
accurately. You will receive credit only if the oo ) o [oe)
bubbles are filled in correctly. Grdin_| ®®®|® OB
2. Mark no more than one bubble in any column.  result. | @|@|@D|@ 000
3. No question has a negative answer. OBB® OB®®
4. Some problems may have more than one O®O®O® O®OO®
correct answer. In such cases, grid only one ® DD D
e ot ngnaony
' . @OIOPI® ©©O)©)
5. Mixed numbers such as 3 ;— must be gridded
as3.50r7/2. (If BE is entered into the Acceptable ways to grid are:
grid, it will be interpreted as E%,not 3%.) 21/13 . 16|66 |lelel|7
6. Decimal answers: If you obtain a decimal Q@ DD OD
answer with more digits than the grid can OGO SOOI [ oo o)
accommodate, it may be either rounded or QOO QOO QOO
truncated, but it must fill the entire grid. % 2 g g 8 % % % 8 8 % %
© e | OVBIBI® ©© O e
@@D®D@> @ODO®D@ @@
60666, OB 60/60]6)6)
00666 O00e @Oee©
QDD 00 @) (@) QOD®
ronIiraIaIms ronIiranIraImsEN ronIiranIiraIsN
Answer: 201 - either position is correct
2|01 2(0(1
oD DD NOTE:
QOO QOO
O O] ®O© space permitting.
SeEe S823 Srii
n to use shoul e
AR AN leftblank.
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